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000,00000000000000000000000000. 00000
000000,0000000000000000000000.0000000,
0000 4, 0000 ¥, 00000 ¢0000,0000000000000.

v(x,y, 2, t) = VU(y, 2) + ¢(z,y, 2, t). (2.1.1)

00,000000000000000000D00. 0000000 u(= —09/0y)
U

u(x,y, z,t) = Up(y, 2) + u'(z,y, 2, 1), (2.1.2)
0000000 v(=d¢/0x) O
v(z,y, z,t) =v'(x,y, 2, 1), (2.1.3)
00 6(=8¢/0z) O
O(x,y, z,t) = Oo(y,2) +0'(x,y, 2, 1), (2.1.4)

000.000,0, 0,0000000000000000,00000. 4,4, ¢
0000000000000000,0000000,00000
0000000000000000000,0000000 kmO0000000O
0000000000000000000,200000000.0000000
00000000. 00000000,
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0000000000000000000000000.
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0000000000000000000000.
00000000,0000000000000000.
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oogd, p,d0b00go, SU0oboobobgo. Db pobbOo0ODbDOO.
(21.) 0000000000000 O0O0OO0O0DOOOOODOOOOO,

o 0 960 060¢\ 06O,
(aﬁan )Q+(8x8y gyor) " or oy " (2.1.6)
O00™. Joooooooooooooooog
P’ ¢ ps O
=9 Tt 58 (Saz> (2.1.7)
gdogdoooogoooaod
PV 10 [p, 0P
=0y + = 8 D) + — s 82 (g@) (2.1.8)

go0oOo0.000,000000000oooooO. 216000000000
god. oo ooooobboobobobbbboooouuaa
0,(216)0000000,000000000D00000O0D0O. DOO,O00
gogbobboooobobooodn

6<1 (2.1.9)

00000000oooo. O(p) bO0O0DoUoooooooooOooooo,

(a a) 96 O,

=00 2.1.1
ot Vo )1 gy (2.1.10)

gogb. oo, g0bbbooogoobuooaob.

2.2 0O0O0OO

gbboodgbbuodgb.boodgbbybbooobboobobo,bbod
gobooodoo z0bboggbobuoobobooobob.oggb,gobood
ggbbobuoooobbobooan.

9¢
U al‘ 07 y Y ( a)
w=0 z=0,z=1. (2.2.1b)

“lDooooD 1000,
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o) 0\ 0o 0OUyd9p
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I L)+ () - ()]

d¢ 0¢ OUy _10¢ 09 0U,
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() —ggﬂX/m (3.1.2)

oo0O. 3.1.)ooooooo,00000oC00o00b00ooooooogoood
gobobuooobbuooobbooob.booobbooooboboboo,boa
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o 1 550600, ol U,
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/o / P 3 By By /o /_1"“0“0 oy W & (3:13)

0000.00000000000000000000000 dl,/oy00000
00000000 —pauy 0000,0000000000000
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/0 /_ P o 32 _d dz / / psBovoS~ d dz (3.1.4)
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—psbovo D00 0D00ODO0O0OOODOODOODOODOO.
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gboobbooboobboobuoobbooboobbooboobobo
gb.oboboboobobobooboboboooo.ooboboboon
O00,0000000000000000Q0DOO, (3.1.1)00,0000000O
god

1L 021
gooooooobobn.
o000l _ (30,00 (00)" 0
Ox dy Oy oz’ Oy oy oy (3.2.2)

oy (90 oy
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“IDo0o0oD 3000.
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gbbogobbooobbbuooobbooobb.ooobbo,obbod
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200000y (92 (96 s
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/v
Apoa = +— —(+ ——1n. 4.1.1

000.000,40000,p00000000,p0000000,ROO00O0
0,000000000000000000000000000000000. 0
0oO000O00o0O00o0

L/
&:pw(m> (4.1.2)
R,O* P+o
oo0oooooo.0oooboooo Aoooooa,
1 p. Ops Opx
PxA + Apia = pea + ~L A¢, ( ) + 1. < ) (4.1.3)
Y PxA az* A ay* A

goo. oo, pobooboobgoobooboobooboon,

Ops 0ps
«B = Px X ¥ 4.1.4
Peb ,0A+(ay*)A77+<az*)AC ( )
odooo. 0oboboooo0 BOODOoOooooooooooooo,
1 Ops 1 [ 0p.
YPxA 82* A PxA 32* A

: %O 1(%ﬁ}1
¥, _ 4.1.5
K {w*A (ay* A Pea \OY« ) 4 (4.1.5)

C* ag*A + T]* aQ*A
G*A (92* Q*A 3y*

:p*A|:

0O00. 0000000000 ABOOOOOOOODOODOOOOOOOOOO
ooo,

E*:(pA+ e pB)gsmgb (4.1.6)
PxA
gooboooo. oo ¢
tanqb:&

*

00000000ooooooOo. 4150000

Oz \ _  00./0y.
s ) . 08, [0z,
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000, (4.1.6) 0

a9, . 0z,
E, == « — D | =— 4.1.7
R O (ayH L)
gogdno.
DDDDDDDDDD(DDDA—>CDDD),m=O,sin¢:1DDD,(4.1.7)D
g 00,
E*:_ *
9*32*C

000.00,/02,>000000,00000000000000000.
E<0000,0000000D00

0z,
0 < tang < <8y*)9* (4.1.8)
gboudooooodououoooooooououoo. ooo,ouoodgo
oo0ooooooooooooooooooooooooooooooooon
0, P, 0000000,000 000000O000O00O00O0O0O0OOOO0O
oo0o0o0odoooooooooo. oooooooooooooooooon
godoooodo e, 00l0d00D0ODO0O0O0OO0ODODLO,0000DbObOODOOOooOn
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150 Eady’s Model

5.1 Eady’s Model [ []

gbbogboogbbdodgbooobuoobboob,gbooobuogboa
gbbodbooobuoobboob,obboobooobuoobbuoobbo
gobobd.goboboa,oboboggbobobugobobuooobbuooobobod
000 Eady(1949) 00000, 000000000000000O0O00O0O0OOO
gogbbbooooobobuog,bbbuoobbbuooobb,oogbooboobod
gbbodboogobuoobbodg,uuobbooboooboobbodobobo
gogoobodoagd.

Eady’ Model OO D O0OOO0OO0OOO0ODOODOODOOOOOOODOODODLO.

Up = 2 (5.1.1a)
00
5 = b (5.1.1b)

go,bodgoobobbooodobobbooooobooboobog.
ggbobooogbboobog.
Of0b0b0o0oooboobooboobOoD.
gobboobogobbbooon.
gobbooggboood.
gobbobuogobbboooobbobood.
gobooo,0obbbdooooboooobbbooooooboo.

5.2 O0OOOO

gbboggboobbuodbooboboo,uogbbodboobbuoobobo
g.gbbobuogooboboboo,gbbobuogogbboboood.

¢(x,y, 2, 1) = Re®(y, 2)e™ "~ (5.2.2)

00 Rel o0 O0OOODOOODODOOOD.ODOO KD opUDLO2z0O0O0O0
O000000000000000,000q¢0000DO00DOODOODO
go,0o0bo.bgobobooboboob kbobooboboo. oo,
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00000000 kO0D00DOO0O0. 00,0000 0000000000
ooo,

c=c +ic (5.2.3)
ooo.00oo, (b22)0g>00000000000,
¢ = Redelkle—ert) gheit (5.2.4)

oooob0. b e0000OoooboobooboO,0b0b0ob0ob k00O
gboo. oo,k >000000000000,00000DO0DO00DbDODOO
gobbuoogbboodobbooobboo.obb,ob0obbuooobboo
goodgogobobbboboboobbboo. obbobooboobbbboooouoaad
gb,boggobbuoodbboodaobb,z000000D0000DL0DOO0O0.

gg,bbodoggbobobbdgooobobboogo,bbobbodogo 1
b cboogobboodb,odgbbuobobbooobb.oooboobboo
ugd cObboooooooobbbbb. booooogobbobboogd
googoobooboob,booboobboo.oobboobo o, bon
gboboooooobobg kOO0 000 kOO0 DLO0ODLDO kKOO0
gobbuooobbboodobboo.gbbboobobboob,ooobboo
gogoooo.

5.3 UUOOOogonoono

000,200000000000 (21.10)0000000000000 (2.2.3)
O Eady's Model DO O OO0OOOODOO,0000

0 0 9 9Mly

(8t+an ) i+ 5o gy =0 (5.3.5)
0 a\ 9 U9

(E + an—x) 5 A, = (5.3.6)

00D.00000 (522)0 (535 00000,00000,
—0) |8 =+ —— —k?®| =0 5.3.7
c-a|s55 + 53 - Fe] (5.7

ooo™ ooo ¢000000000O (22.1e) 00,

®=0, y==+1 (5.3.8)

‘IDo000 4000
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000.00,00000 (5.22)0 (5.3.6)0000,2=002=1000000
0o,

—cg—f —d=0, 2=0 (5.3.9)
(1—0)86—(5—@:0, z=1 (5.3.10)

000. (2210000 (5.3.7)000
O (y, z) = A(z)cosl,y (5.3.11)

gbogbdgob.obd200000000000. 00O

1
l, = (n+§)7T, n=20,1,2,.., (5.3.12)
O0000o0Ooooo. A Doooooood
PA
(z—c¢) {W—u A] =0 (5.3.13)
ogooo. ooa,
w=(k*+12)S (5.3.14)

goo.ooooogd,
A
+c—+ A =0, z2=0 (5.3.15a)
1-c)on —A=0, z=1 (5.3.15b)
goo.

goono (5‘3.13)DDDDD,DDD

0?A

022

ogoo,000cogooooooboon. (5.3.16)DUDDD a0 b0000
goood

—1*A=0 (5.3.16)

A(z) = a cosh pz + bsin pz (5.3.17)

o000, 000 (5.3.15h), (5.3.15) 000000, e,b00000 200000
g

a+ pchb =0 (5.3.184a)
a[(c — 1)u sinh g + cosh u] + b[(¢ — 1)p cosh p + sinh p] =0 (5.3.18b)
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00000. «,b0000000, (5.3.18a), (5.3.18) 0 ¢, b0 0000000 00
O0D0OD0OD. 000000, (531600000000, c0 2000000
02,

A —c+pteothpy—p2=0. (5.3.19)
nooooo,
1 1 1/2
c=3 + {Z + ™% — ! coth ,u} (5.3.20)
ogod. oo
1
coth p = 5 [tanh g + coth %} (5.3.21)
00O, (53.20) 0
1 1
=4 [(E - cothﬁ> (‘i - tanhﬁﬂ (5.3.22)
2 = 1 L\3 2) 2 2

oobooo0oo0o. 00,0000 p0000, 4% >tanhf OO0, OOO0OO,
£>cotht 000, (5322)00000000000000,c020000000
Oo0o0000.00,5<cothf000,0000000000000,c0000
ggbo.obud pgoobboo

% - coth% (5.3.23)
DoooOo,0000,
e = 2.3994... (5.3.24)

000. p>p 000,00000k0,000000, (53.22)000000 2
Ooooooooo.

00, pu<p000,(5.322)00 c0000000000000. 00000
000000 O000000000¢ =05000000. (53.14)00,%00
0000000000000000,S0

p? i i 2.333

eI S—— =4 = 5.3.25
12 12 mentr1)? @ntl)p (53.25)

gogbbbooobbbuoooo.bbooodobb,n=0000 100000
gogbbobuogoobbodo. gob,ybooobobboooobbobaod.

200000 5000.
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54 UOU0O0OO0OOOOOOOOOO

gobboooooboo,

kCi_S[(COthg—g) (g—tanhg>]l/2 (5.4.26)
oo0o. x017,0S000000000 kOOODDOO, (5314000000
(54260) 00 0000000000000 ODOOOOO. ODOODOO,0000O
gooooooooo,bobbbbbbudoodooouo,gouoooon
gogooobbobobbodog,gubobbbbbtbdooooouooboboooo
gogooobooobbbboooodg,ogogooooo.

g, 0goooooo,bbobobobobooobbbbodnn=00000000.
000000 S=10007, cl) 00000000000 DODOO0O0ODODOOO0
goo,0b00b k—=0000000 kg =0000. p<p. 00,0000
gogooobboobbb.gooooooboobbobbbooooa.

0s5100000000,000 k=18100000000000O0O00,000
goboobobUd0o. oobobbooobuoobobooobo,booboog 3,000km O
guoboboooooooooobooogoob. bb,0bboobooboboog,
000000000000000000000 k%, =12000000. 00
gooboooooboooooboooooboboogoboboo, b0 k,d

“Oooooo Soooono. sSo

N2D?
S = ; 2
oL

oooooo.bodo NOODbOOooOoOoooobobooooooooboobooooooo,pooa
oog, f,f0OOOOO0ODOODOOO0OOOOOO0.00b0O0O00DOODO0O0OOOOODODODO.

1/2
N, = (99
00z
10 6\
- <300 1000)
=14 x107%[s71],

D =10*[m],
fo = 2Qsina

2
=2 X —7; =13 x1074s71],
10

000,¢000000000.000000,sine=0(1)000. 000 SO0000000O

(1.4)2 x 1074108

S - ~
(1.3)2 x 10-81012

gboogooo.
“000000000D0000O 6000,
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T A=

1 1 25 1.5 1 81 2 2.5 3
N2

0 s4l: 000bpboooobobboooobboood

gddooodoooouoououuuuu,oooooooooooo
gob.bogobbogobbo,bbbuogobbuooobbooobboo
oooooooo0. b0 sk0bO0ODbO0ODbODOD,ODO0D0ODODO,0000
5,000km 00 0000000000000,

5.5 UUOOOOOOO

00,000000000000. 000000000, (5.3.18a) 0 (5.3.18a)
oooo,

inh
A(z) = cosh pz — S /b (5.5.27)
e
00D00000000noodn. p<p.00
keit ik(z—0.5t) 0.5 . ic;sinh pz
¢ = Re e™e X || cosh puz — sinh puz | + —————| cosl,y
plef? plef?
(5.5.28)

00,000000000000000000000000. =04/0-0000
0, (55.27)00,

1¢;sinh pz
plel?

. 0.5
0 = Re eFeiteif@=051) [(cosh hz — | |2cosh pz) +
ple

} cosl,y
(5.5.29)

oob0.00¢t=000000000000000. 060000,

0.5 i
¢ = cosl,y {coskzx (cosh nz — | Psinh uz) — sinkz—_sinh uz} (5.5.30)
ple

plel?

0.5 i .
0 = cosl,y [(usinh uz — —=cosh uz) coskx — (C—COSh uz) smkm} (5.5.31)

|cf? |cf?

000000000 D000D0O 6000,
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bbb y=00000,00-000000000000000000OOO0O0O.

0.5 P
¢ = coskx (COS pz — ——sinh ,uz) — sinka— Ssinh iz (5.5.32)
el el
6 = ( psinh pz — Wcosh wz | coskx — Wcosh wz | sinkx (5.5.33)
c c

00O, (5.5.32), (55.33)0 »=000000,000000000000000
ooo,

¢ = coskzx cosl,y (5.5.34)
0.5 i
0= <_W coskxr — ‘S?smkx) cosl,y (5.5.35)

00,000000000000.000k=25000. ¢0 (5.2.2), (5.3.17)
00,

Qb _ Re(peik(:c—ct)

ihh 5.5.36
= (cosh wz — i ,uz) cosl,ycosk(z — ct) ( )
gob.0obdodd :.b00gooobooaa,
0
p="20
: (5.5.37)

1
= (usinh pz — —cosh uz) cos lpycos k(x — ct)
c

gobobobo. bdgdt¢t=00000000000000O00. 0000 y=00
ggb,bod-0bobuoooobbobuoooobboboooobn,

ihh
o= (COSh wz — 2 uz) coskx (5.5.38)
e
. 1
0= (,usmh pz — —cosh ,uz) cos kx (5.5.39)
c

oo0. 000 (5.5.36), (5.5.37)0 »=0000000,00000000000
gogoooo.

¢ = coskxcosl,y (5.5.40)

1
6 = ——cos kxcos [,y (5.5.41)
c

ggb.obbbodgodgobobooooobbbooooboboboob.bo,
ggboboooobbooodgnss20non.
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U ss52ry=00000000000000000000. bbobboago
g,gbobobo,gbobooooobobo.bobobobobob,bon

0000,0000000000000. ()0 k=1600000000000
O0,(b)0k=25000000000000000.

okm 4000 km 2000 6m

-

)
1
1
(]
]
]
'
‘
'

4,000 km 8,000k

0553 z=00000000000000000000. 00DO0OODODOO
g,bogobogbo,ggbogoboobbo. gbbooboooobo,bobd

0000,0000000000000. ()0 k=1600000000000
O0,(b)0k=25000000000000000.
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gss20b0bboboud,goooobbbouod, oo boboboodo
gobobuogobbuogobbuood. bb,g0obbuooobbuooobobod
gogbboboodob,buooobbbuooob,goobboooobbboo
gobooogg.

gd,goobbbboduoooggoss3uud. ggobobobobobodado
gobooobbogd. bbogooobobooobbo.gss3uuguoooon,
gobbbooogbbo,gobbbduodgbbbuooobbbo,obbbod
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